CASBEELBIZH+HERIEHDRERERITBE

CASBEE-IL & 20144 AR

EEXIERETE
X FROZHICBBEREROBELIAIL TSN,
B2 E I B EXTEREE I
W1 THERRERIE X SR | DHEHE
1.1 EYoBarrig
(=E7S) XEEEELERICREHE LT3N 3.0 0.43
BPICHHE=0840 ENEE 2|:BauEts PALE$-L 2| shREtERE
3.5 057 |[wi|THRLF— 1|20 R aFlE
INET[ 3.3 0.05
1.2 BARAIRILT—DOFA
(=E7) XEESEFHERICEEH LTSN 3.0 100 |wi|zrox— ol st —FIm
INET] 3.0 0.06
1.3 BERATLOEZNEIE
@rvp) XEEBEFZEZICEH LTSN, O 30 100 |wri|zriv— almiEs 27 ADS =L
INET| 3.0 0.29
14 REATLOHEMER
@rvp) XEESBEEZERICEEHL TLESW 3.0 050 |[w~|Trix— AP ES et a1lE=mysy
3.0 050 |w~|TrLx— 4|3EmER 4.2 EREEkH
/NG 3.0 0.12
15 ER-<TUTILRE
(Exvh) XERFREMRICEHL TSN, O 4.0 010 |w|am-<7u7r | 1|k&EeE 1.1[aok
iﬁE?:ZﬁgﬂIﬁ;fﬁj;ﬁ#%%%;‘i% i%&%?éﬁﬁ 3.0 011 |w=|gm-~<7u7r | 1|xamse Lo|Fkmm-wHkERE | 1|[FkRBLATLASADERE
LTinD. e "’ 30 | 005 |=|am=7urn | i|kanms 12|FUKRIR HPABRE | 2[HABRL A7 ABADES
2.0 0.08 |[re|&E-<FU7L | 2|kEEraEoEREERE |2.1|FHHERE0O5IH
3.0 0.15 |[re|&E-<TUTIL | 2|kEEnEEosRELm (22| RFREEASOREER
3.0 0.15 |[Re|&E-<TUTIL | 2|kBEnEEOERSEIR (2.3|BrmBIssT 2031 o L HOER
40 0.15 [re|&E-=FUTIL | 2|kEEraEoEREERE |2.4msmemicsy sy oo
3.0 0.08 |re|&E-<FUTIIL | 2|kEEEMEROERELR |2.5saTwnmmnsEmsn-AH
3.0 0.15 |[Re|&E-<TUTIL | 2|kBEnEEOERSEIR (2.6|8H0BHATELE EADKRES
INET| 3.2 0.35
1.6 A4 A49)LCO28 =R
(=S XEEEEFERIZERHE LTSN 34 1.00 |ro|sosesrimes 1|ErEmEE~0mE
SATHAYILCO2HEN—RNTEMERF 249.21kg-
CO2/%Em2
INET| 3.4 0.14
1.1 ERGR BR 1L %6F 51 | O HE £ D 5F 4 31 0.69
W2 [E—F7ASUR R IDHEHE
21 REMREDOMELE
(ArAvh)  XEEBREBRISEHL T, 20 0.49 |e3|=stmis@m) | 1|EmBEORSLAIH
3.0 0.24 |Q3|=sREE (Eth) | 3|ttt 7 AT~ DEE (3.2 | St RERREBEOH £
3.0 0.27 |-re|BatthstIREE 2| i BB~ DA R 22| BRBREELORE
INET| 25 0.97
22 BAERHH
QAU XEEFREMRISEHMLTTSL, 40 1.00 |ro|gusnstimss olspmmE~0RE  |23|EoTS~0aFNH | 3|xEaR
EVAAEOOOBEYLGEDBEEESEHERL TS,
INET| 4.0 0.03
2.TE=FPAFU0 % 3R | D HELHE O 5T A 2.6 0.19
W3 [REMIEXIRIDHE
31 MAMDML
QAR XEEBREEACRBL A, 30 0.18 |az2[s—txixse 2|t FR - (5 4B 21|fitE-2E 1|t
FREZILS—h, BEEZ)LYOR, KAR—FEEZ | 30 027 |a2|y—txisse 2|t Fat - (BB 21|fE-2E 2| HIR AL
Eﬁggg&mbﬁgﬁ‘%’g BKERVPOL T30 | 011 |oz|v—cxmie | o|mme-fmme 22| 8- B O AER | rraommRER
N ° 3.0 0.11 |Q2|y—ERMEE 2|t - S4B 2.2| 885 - BB D A EE %k 2|5 BRI L P M DRI L BRI
1.0 0.05 |a2|v—Exits: 2|t - 15 8E S 22|88 ERM DT A ESK |xEmsH LR OERLEER
3.0 0.05 |o2|y—t=xitae 2|t F - (5 4R 1 2.2 8 & - WM O FAESK 4| ZEBE S o OEH LB
5.0 0.11 |Q2|y—ERMHE 2| At - S 8E 22|58 & - EB41 DD FAEE 5L 5|25 KB E O BH L ERR
3.0 0.11 |Q2|—ERMEE 2|t R - 15 4B 2.2| 8B - BB O A EE %k 6| X BB BB OELHHERR
INET| 3.1 0.41
32 EimDEHM
(QAVR) KEFOFELHRICERL-FRERHL TS, | 30 020 |oz2|4—Ezise 3|ttt - EEE 33|mmoESHE 1|22 RERE O B EHE
3.0 020 |Q2|—ExitAE 3|3t - BT 33|l DEHM 2HRHIKEDEHME
3.0 010 |[|Q2|r—EXitsE 3|3 - BT 33| EIEDEHME I EXEMBOEHM
3.0 0.10 |o2[s—E=izae 3| sut st - T 33|BRiEDEHE 4 BIERBOELHM
3.0 020 |az2[s—E=xizae 3| st i e - TR 33|BRiEDEHMH 5| B OESE
3.0 0.20 |Q2|—EXxitAEE 3| - BT 33|l DEHMH 6|/ NI T VT RAR—ZADFER
INET| 3.0 0.59
ITRFMIERIDHEDNDFH S (LFE2IE) | 30 0.12

BEREB DT (EEIEE)

3.0




